AP Calculus AB

Test Review: Chapter 3

Non-Calculator

1.  Find the derivative of 
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2.  If 
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3.  Find the derivative of 
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4.  The equation of the tangent line to the curve 
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 at the point where the curve crosses the y-axis is
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5.  The slope of the curve 
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 at the point where 
[image: image27.wmf]2

y

=

 is


A.  –2

B.  ¼ 

C.  – ½ 


D.  ½ 

E.  2

In problems 6 – 8, the motion of a particle on a straight line is given by 
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6.  The distance 
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7.  The minimum value of the speed is


A.  1

B.  2

C.  3


D.  0

E.  none of these

8.  The acceleration is positive 


A.  when 
[image: image35.wmf]2

t

>




B.  for all 
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E.  for 
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9.  If 
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B.  –4

C.  – ½


D.  0

E.  6

10.  Find the derivative of 
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11.  Find 
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E.  none of these

12.  Find 
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A.  ½ 

B.  ¼ 

C.  2


D.  1


E.  0

13. Find all points where the tangent line is horizontal?
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